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STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING (S.C.E.R.T.)
PUNJAB, MOHALI

Uag o fedassr a7 yifamr - 2023
Punjab State Talent Search Examination — 2023
T3 EA<t (CLASS - X)

Time : 3 Hours Max. Marks : 180 AT 3 U@ % i : 180
Instructions for Candidates : Site=at et gufest :

1.

2.

This exam is in two parts.

Part — I is related to Mental Ability Test
which consists of 90 questions.

. Part — II relates to Scholastic Aptitude Test

which consists of 90 questions relating to
three subjects listed below :

(i) Science
(ii) Mathematics

(iii) Social Studies

. Each question carries one mark. All questions

are compulsory.

. You have been provided with an Answer

Sheet (OMR) for this question paper. Darken the
correct option of each question in the Answer
Sheet (OMR) with black/blue ball pen.

. Rough work may be done on the blank space

provided for this purpose.

. There is no negative marking in the test.

. Do not use white fluid on OMR (Answer

Sheet).

. Half an hour extra should be given to

Physically Handicapped candidates only.
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MENTAL ABILITY

Direction (Q. No. 1-8) :

There is a number/letter series following a pattern.
One place is left blank. Find out the correct answer
from options :

1. 0.6,3.6,10.2,33.6,137.4, ........
(1) 629 (2) 636
(3) 690 (4) 698

2. 1,0,3,2,56,7,12,9, covvenn....
(1) 20 2) 21
(3) 18 ) 16

3. 198,194, 185, 169, ...........
(1) 92 (2) 112
(3) 136 4) 144

4. 57,711, 1113,1317,1719, ..........
(1) 2123 (2) 1911
(3) 1923 4) 2023

5. SHG, RIF, QJE, PKD, ...........
(1) NME (2) NLB
(3) OLE (4) OLC

6. 127, K4X, 17V, 2, HI6R, M22P
(1) LIIT (2) L11S
(3) L12T 4) L12S

7. 7,8,18,57,7, 1165
(1) 228 (2) 232
(3) 224 4) 174

8. WFB, TGD, QHG, .........
(1) NI (2) NIK
(3) NIK 4) PJK
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(3)

H&Hs GarzT

fogem (YAs 1-8) :
g, fame vigrmiaar 9 et Heu J1 fer Aeg
% fims S8 99 & &3 § yI' 996 BT At

€839 <t 9= a4
1. 0.6,3.6,10.2,33.6,137.4,........
(1) 629 (2) 636
(3) 690 4) 698

1,0,3,2,5,6,7,12,9, ............

(1) 20 2) 21
(3) 18 4) 16

198, 194, 185, 169, ...........
(1) 92 2) 112
3) 136 4) 144

57,711, 1113, 1317, 1719, .........

(1) 2123 (2) 1911
(3) 1923 4) 2023

SHG, RIF, QJE, PKD, ...........

(1) NME (2) NLB
(3) OLE (4) OLC

12Z, K4X, 17V, ?, H16R, M22P
(1) LIIT (2) L11S
(3) LI2T 4) L12S

7,8,18,57,2, 1165
(1) 228 (2) 232
(3) 224 ) 174

WFB, TGD, QHG, .........
(1) NI (2) NIK
(3) NIK 4) PIK

P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

Direction (Q. No. 9-13) :
Find the wrong/odd number or term from
the given series/numbers :

15, 16, 22, 29, 45, 70
(1) 16
3) 29

2 22
4) 45

6, 15, 35, 77, 165, 221
() 15 (2) 35
3) 77 4) 165

2, 6,24, 96, 285, 568, 567

(1) 6 2) 24
3) 96 (4) 285
(1) Zebra (2) Lion
(3) Horse (4) Tiger
(1) 392 (2) 326
(3) 414 (4) 248

Direction (Q. No. 14-16) :

According to the specific pattern fill the
blank spaces of letter series in the following
questions :

ipi_upog_pig_pogi_ _g

(1) igpgg (2) puigp
(3) giupi (4) upgii
bca_c_db_ db _dbc_bca

(1) daaca (2) dabca
(3) acabd (4) cdcab
mn_no_qop_Isp_rs_u

(1) opqrs (2) opqqt
(3) orpst (4) opgpt

Taz Mahal is related to Love in the same way
as Jallianwala Bag is related to :

(1) Amritsar (2) Martyrdom
(3) War (4) Punjab
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10.

11.

12.

13.

14.

15.

16.

17.

fsgem (YAs 9-13) :
g

15, 16, 22, 29, 45,70
(1) 16
3) 29

2 22
4) 45

6, 15, 35, 77, 165, 221
() 15 (2) 35
3) 77 ) 165

2, 6,24, 96, 285, 568, 567

(1) 6 2) 24
3) 96 (4) 285
(1) Zebra (2) Lion
(3) Horse (4) Tiger
(1) 392 (2) 326
(3) 414 (4) 248

fogem (Yms 14-16) :
3939 MgAT I&1 333" & YT FIs

e st €39 & 9T AT |
ipi_upog_pig_pogi_ _g

(1) igpgg (2) puigp
(3) giupi (4) upgii
bca_c_db_ db _dbc_bca

(1) daaca (2) dabca
(3) acabd (4) cdcab

mn_no_qop_Isp_rs_u
(1) opgrs (2
(3) orpst 4

opqqt
opgpt
A’ 3 Hfos = A9y fimrg &% I, BR
39t Afentt T gar T /ey fam &% 37
(1) »if=zAg (2) mdEr
(3) Har 4) dFE



18.

19.

20.

21.

22,

23.

24,

Flower is related to Petal in the same way
as Book is related to :

(1) Page (2) Content

(3) Library (4) Author

Choose the word which is different from the
other words in the group ?

(1) Ginger (2) Onion

(3) Coriander (4) Beetroot

In a certain code language 'MINERAL' is
written as 'QRSTUVW' and 'SOUND' is
written as 'ABCSD' then how will
'READER' can be written in same code ?
(1) SBFEFS (2) UTVDTU

(3) TUDVUT (4) QZDCDQ

In a certain code language 'REQUEST" is
written as 'S2R52TU', How can 'ACID' is
written in that code language ?

(1) 1394 (2) 1C9%4
(3) 1D3E (4) B3J4
If DRIVER' is coded as '12' and

'PEDESTRIAN' is coded as 20', then what
is the code for 'CAR' ?

1 3
3) 8

2) 6
@ 12
If 'sky' is called 'star’, 'star' is called 'cloud’,

‘cloud' is called 'earth’, 'earth' is called 'tree’,
'tree' is called 'book', then where do the

birds fly ?
(1) cloud (2) sky
(3) star (4) tree

In certain code language

il be pee' =roses are blue,

'sik hee' = red flowers,

'‘pee mit hee' = flowers are vegetables,
Then which word is used for ‘red' ?
(1) sik (2) hee

(3) be (4) flowers
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18.

19.

20.

21.

22,

23.

24,

fie’ g% T Aau Uit &% J, R 397

fasg = A9y fam &% 37
(1) ud ) femm =n3
(3) wfegdt (4) U

87 HIT T& 7 aJY T IO HIL B
foam 39" &% THgT I

(1) »edx ) fumm

(3) TaMT (4) goled

fan sH & f8 'MINERAL' 3
'QRSTUVW' 3 'SOUND' & 'ABCSD'

fsfimm Arer I1 R I &9 READER'

fam 3g™ &fmfr a<ar ?
(1) SBFEFS (2) UTVDTU
(3) TUDVUT (4) QZDCDQ

fen sH a3 9 'REQUEST 3
'S2R52TU', fsftmr Aier I R 57T o3
9 'ACID' & fa=" f&femir Hr<ar ?

(1) 1394 (2) 1C9%4

(3) 1D3E (4) B3J4

fon 3w a8 &g DRIVER' & '12
fsftmr 7T 3, »3 'PEDESTRIAN' &
20" fsftmr 7w 1 @R s a3 39
'CAR' T &3 ot J=drr ?

1 3 (2) 6

3) 8 @) 12

A9 MMANS § I9T, IIT § e,
g€% & ‘O93’, ‘T9sr §  ‘TIus,
8¢ Jgza1 7

(1) 9es (2) WTHHTS

(3) 39" (4) €943

far a3 o3 oo

il be pee' =roses are blue,

'sik hee' = red flowers,

'pee mit hee' = flowers are vegetables,

3t 'red et fggzT mEw T9f30r fapr I 9
(1) sik (2) hee

3) be (4) flowers

P.T.O.



25.

26.

27.

28.

29.

30.

Which of the following word can not be
formed from the letters of the word
'INFRASTRUCTURE' ?

(1) RESTRAIN (2) FRACTURE
(3) CHARTER (4) NATURE

Which of the following word can be formed

from the letters of the word
'DEMOCRACY"?

(1) SECRACY (2) MICRO

(3) MARCY (4) DEMON
Arrange the following words in the

sequence as per dictionary order :
(i) protein (i) problem
(iii) proverb (iv) property
(v) project

(1) i, i, iv, v,iii ~ (2) ii, 1, v, iv, iii
3) ii,i,iv, v, iii  (4) ii, v, iv, 1, iii

Which word from the following words is at
third place when arranged in dictionary

order ?
(1) INTENSE
(3) INTEND

(2) INTELLECT
(4) INTELLIGENT

Which of the following diagram best
depicts the relationship between Room,

Window, Door ?
O 0| am

) 2) 3) “

Which of the following diagram best
depicts the relationship between Teachers,

Players and Graduate ?

OOO 3D

)] (2) 3) 4
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25.

26.

27.

28.

29.

30.

AGt ®mge g A7 3 gE
'INFRASTRUCTURE' H© 3 &dt gfenr
JI

(1) RESTRAIN
(3) CHARTER

(2) FRACTURE
(4) NATURE

Adt €39 g 7 &3 ¥ 'DEMOCRACY'
moe 3 gfenr I

(1) SECRACY
(3) MARCY

(2) MICRO
(4) DEMON

Jo four meet § HEEaH i WeAd a9
w3 At g & 9= &

(i) protein (i) problem
(iii) proverb (iv) property
(v) project

(1) i,1i,1v, v, il (2) 1ii,1, v, 1v, iii

3) i, i, iv, v, il (4) ii,v,iv,1,iil

I fou meet § HEESH gH MEAT J96
3 AT AES 3 fI93T HEE nr<ar ?

(1) INTENSE
(3) INTEND

(2) INTELLECT
(4) INTELLIGENT

Jot fe3 fgsat &g fagzr fdsg aua,

TIAgTr I?
e/ ©

) (2) 3) “

Jot 3 fosar &g fxozr fo39

Heg § 9T J 7

OOO GO

@) 2 3) “4)




31.

32,

33.

34.

35.

Direction (Q. No. 31-34) :

In the following diagram, study the diagram

carefully and answer the questions that
follow : HISTORY

MATHEMATICS

SCIENCE

The number of students, who took any three
of the above subjects was ?

(1) 62 (2) 63
(3) 64 (4) 68

The number of students in total, who took
History or Mathematics or Science was ?
(1) 183 (2) 190

(3) 424 (4) 430

The number of students in total, who took
both History and Geography among other
subjects was ?
(1) 62
(3) 66

(2) 65
4) 63

Which subject was taken by the largest
number of students ?
(1) Mathematics
(3) History

(2) Science

(4) Geography

Direction (Q. No. 35-36) :
fFR=+S=—-U=+T=x%x,V="=
W = > X = <, then which one from the
following is correct ?

(1) 30R6U2WA4T3
(2) 30S6S2X4T3
(3) 30S6U2U4V3
(4) 30U6R2WA4T3

PSTSE-X-2023
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(7)

31.

32,

33.

34.

35.

MATHEMATICS

fsgem (YA 31 - 34)
Jot fo3 939 99, f939 & AHs o I
oo yrst © 839 feb:

HISTORY

GEOGRAPHY

SCIENCE

fefenrgginr &t farsst €R, fAgst & 8ug
&3 fefimit &5 a=t 35 fen & d= 2
(1) 62 2) 63
(3) 64 4) 68

fefenraeint & foest &R, faost &
fefsam, aifes a7t AR femm fonm 32 2
(1) 183 (2) 190
(3) 424 (4) 430

fefonradiort & faest w8, friost
fonrr 32 7

() 62
(3) 66

)
oS
(2) 65
4) 63

fonr 3 2

(1) dfes (2) FfER
(3) fefsam 4) IS
fsgem (YA 35 - 36)

AAd R=+S=-U=+T=x,V="=,
W => X =<, 3t I&" &t f&5° \dt
JEE 9T

(1) 30R6U2WA4T3
(2) 30S6S2X4T3
(3) 30S6U2U4V3
(4) 30U6R2WA4T3

P.T.O.



36.

37.

38.

39.

40.

41.

42,

(1) 20U4R4X2T3
(2) 2084U4V2T3
(3) 20T4U4U2X3
(4) 20R4U4S2W 3

If S=— P=+ Q=X, R =+, then find the
value of :

18Q12P4R5S6="

(1) 53 2) 59

(3) 63 (4) 65

The total number of digits used in
numbering the pages of a book having 366
pages is :
(1) 732

(3) 1098

(2) 990
(4) 1305

If 100 cats kill 100 mice in 100 days, then 4
cats kill 4 mice in how many days ?

1 1
3) 40

2) 4
4) 100

There are deer and peacocks in a zoo. By
counting heads they are 80. The number of
there legs in 200. How many peacocks are
there ?
(1) 20
3) 50

(2) 30
4) 60

A man was facing West. He turns 45° in the
clockwise direction and then another 180°
in the same direction and then 270° in the
anticlockwise direction. Which direction is
he facing now ?

(1) South
(3) West

(2) South-West
(4) North-West

Amit walked 30 meters toward East, took a
right turn and walked 40 meters. Then he
took a left turn and walked 30 meters. In
which direction is he now from the starting
point ?

(1) South
(3) East

(2) North-East
(4) South-East

PSTSE-X-2023

(8)

36.

37.

38.

39.

40.

41.

42,

(1) 20U4R4X2T3
(2) 2084U4V2T3
(3) 20T4U4U2X3
(4) 20R4U4S2W3

-

TS=—P=+Q=x,R=+3I2 37 J5
foftmit @7 & uzT 99
18QI12P4R5S6="?

(1) 53 (2) 59

(3) 63 4) 65

Tog fan fagg &9 366 U& d= 3
Yoot & fer foest & fous =2t 35
nigt @ TI3° A3 aret 2

1) 732 (2) 990

(3) 1098 (4) 1305

Had 100 &t & 100 g9 100 fest <9
HY Jg, 3t 4 fodhnt & 4 go fd8 fest
feg HIadmmt ?

(H 1 (2) 4

(3) 40 (4) 100

for fagher we &g fods w3 HI Ta|
feost & fAat & fasst 80 w3 U9t &t
far=st 200 1 3T foFor we &9 Hat &
farsst faat I 2

(1) 20 2) 30

(3) 50 4) 60

&g nrert UeH <% Ho 99 u3T J1 89
ufgst w3t <t ferr 9 45° WHer I w3
dgrar 8R forr &9 180° uHer I ni3 feg
w3t & fegr ¥ €®c 270° WHeT I TT

grer ¥ fam femr 2% J7
(1) Tuz (2) Tus-UaH
(3) UsH 4) €33-v=n

iz Y99 % 30 Hieg I J, feg €9
A HZ & 40 Hicg 9% J1 €0 dg9r
¥Y H3 J 30 Hied I®er J1 8T nmud
s fag 3 fam femr 9 3 2

(1) dus
(3) yJ=

2) €39-yagw
(4) THs-UJIyg



43.

44.

45.

46.

Kailash walks 3 km to East and turns South
and walks 4 km. Again turns West and
walks 6 km. How far is he from the starting
point ?

(1) 7km
(3) Skm

(2) 6km
4) 4km

Direction (Q. No. 44-48) :

Read the following information carefully to
answer the questions that follow :

Rohit, Kunal, Ashish and John are students
of a school. Three of them say far from
school and one near it. Two study in class
8th, one in class 7th and one in class 6th.
They study Hindi, Mathematics, Social
Science and Science. One is good at all the
four subjects while another is weak in all of
these. Rohit stays far from school and is
good at Mathematics only, while Kunal is
weak in Mathematics only and stays close
to school. Neither of these two nor Ashish
studies in class 6th. One who is good at all
the subjects studies in class 7th.

Name the boy who is good at all the
subjects :

(1) Rohit
(3) Ashish

(2) Kunal
(4) John

Name the boy who is weak at all the
subjects :

(1) Rohit
(3) Ashish

(2) Kunal
(4) John

Which two boys are good at Hindi ?
(1) Rohit and Kunal

(2) Kunal and Ashish

(3) Ashish and John

(4) John and Rohit

PSTSE-X-2023

(9)

43.

44.

45.

46.

& 3 km UJg TS THA THE B HIT
I M3 4 km I®e J1 8T UgH % HIA
6 km T&eT J1 8T T widfsa fig 3
fadt g9 37

(1) 7km (2) 6km

(3) 5km (4) 4km
fogerm (YAs 44- 48) :

Jot fest Aeardt § fmrs 5% ug o 63
yast ¥ €39 fok:

&g uzT s ifegst &9 35 »3x AI®
3 I IIT 5 »3 € Ag® T 33
Ifder I € B3 I H niat, S IHH
A3t mi3 ¥ o et @ fefonradt
J187 A9 fidt, aifes, AHfAx fefamrs
3 fefamis uge osifes s3a AW
fefimrt feg gar 3, Ae fx f¥a sz A9
fefirt 9 w9 J1 303 AE® 3 €9
Ifder I w3 fAde afes &9 Jar I A
fa go® fide afes &9 aHrg 9, 7 fx
AE® € 33 Ifder I1 feg €8 3 nitE
e<I’ I»A €9 &t uze JI5 | faos &=
uge 9

8r ®3x @ &1 ¥R, 7 A9 fefimit feg
g J|

(1) 3Ifas
(3) »HHE

(2) IoH
4) dJs

B8R ®3d T &1 ¥F, 7 A9 fefimi fo
SIHAT J|

(1) 3fTs 2) F&
(3) »HEHE 4) dJs

faaz € 3o fddt f<g gar a5 ?
(1) IfI3 »i3 I
(2) &S i3 NiEtE
(3) WiHE »3 76
(4) HIs m3 Ifa3

P.T.O.



47.

48.

49.

50.

51.

S2.

Which two boys are good at Mathematics ?
(1) Rohit and Ashish

(2) Kunal and Ashish

(3) John and Ashish

(4) Rohit and John

Other than Rohit and the boy good at all the
subjects, who else stays far from the

school ?
(1) Rohit (2) Kunal
(3) Ashish (4) John

A, B, C, D, E and F are sitting around a
round table. A is between E and F, E is
opposite of D, C is not either of the
neighboring seats of E. Who is opposite
of B?
I C
(3) F

(2) D
4) E

How many degrees does the minute hand
cover in, the same time, in which the hour
hand covers 12° ?

(1) 144°
(3) 140°

(2) 120°
4) 150°

If the actual time shown on the clock is 6
hourse 45 minutes, then what time does it
show in the mirror ?

(1) 5 hours 25 minutes
(2) 9 hours 15 minutes
(3) 9 hours 25 minutes

(4) 5 hours 15 minutes

Which year has the same calendar as that of
2020 ?

(1) 2026
(3) 2042

(2) 2031
(4) 2048

PSTSE-X-2023
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47.

48.

49.

50.

51.

52,

fal N

fqa3 € 3 difes <9 Jdr 357
CIRERCERZLIN:]
I&H N3 MHE
796 N3 wiEH
CIRERCER:RE)

€9
@)
3)
)
T3 w3 7 BFar AW fefimrt <9 dar
J, 3 feme faozr &= Ag® 3 9
Ifger I 7
(1) 3fo3
(3) WHH

(2) Io™%
4 #Is

NN

A,B,C,D,En3 Fdi» i © 1 33
ISIA, EmM3 FT feg® M3 E, D ©
FoHY 8T J1 C, E € &diet Als 3 &d
¥o¢T| B €@ AGHY o 867 J ?

1) C
3) F

(2) D
4) E

ufivalt, 9% Fiv e ifent @@l B 12°
& T Snr et 37
(1) 144°
(3) 140°

(2) 120°
4) 150°

T W3t 3 WAS AHT 6 99 o 45 file d<

(1) 57 25fHe

(2) 9=7 A 15fHe

(3) 9=F d 25fHe

4) s 15

It o3 At 35 fam A% @ aos9
2020 &% fasa® fHeer J=ar ¢

(1) 2026 (2) 2031

(3) 2042 (4) 2048




53.

4.

55.

56.

If 15th August, 2023 is on Monday, then on which
day of the week would be the independence day
be celebrated in the year 2123 ?

(1) Saturday (2) Tuesday

(3) Thursday (4) Sunday

How many odd numbers are there in the
following number sequence each of which
immediately followed by an odd number ?

51473985726315863852743961
1 4 2) 5
(3) 6 4 7

In the following number sequence, find out
how many times 1, 3 and 7 are appeared
together, 7 being in the middle and 1 and 3
are on either side of 7 ?
29731737713317385713716173
1) 3 2) 4

3) 5 4) 6

Direction (Q. No. 56-58) :

In each of the following questions given
below are given two statements followed by
two conclusions. From the given options of
conclusions, choose the appropriate option
which is best applied for the given
statements and conclusions ?

(1) Only conclusion (i) follows.

(2) Only conclusion (ii) follws.

(3) Either conclusion (i) or (ii) follows.
(4) Neither conclusion (i) nor (ii) follows.

Statements : The distance of 900 km by

road between Bombay and Jafra will be

reduced to 280 km by sea. This will lead to

a saving of Rs. 7.92 crores per annum on

fuel.

Conclusions :

(i) Transportation by sea is cheaper than
that by road.

(i) Fuel must be saved to the greatest
extent.

PSTSE-X-2023
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53.

54.

55.

56.

-

Ad9 15 »EAs3, 2023 § AHST HI,
A 2123 &9 vt feeq Je3 ©
fea nrar ¢
(1) Hateg
(3) <=9

El
I3

(2) Hamerg
(4) m3T9

Js ot nigt & w3t &9 oix vix fSar
g »Qer I, 7 faR 2% nix 3 »rBer

51473985726315863852743961
1 4 2) 5
(3) 6 @4 7

J5 ot viat &t &3t g vix 1,3 mi3 7
fdat @ g m@er J, A 7 € €< UH 1
"3 3 nid mBer 9= :

29731737713317385713716173

(1 3 2 4
3 5 4) 6
fsgem (YA& 56 - 58) :

Jot fI3 yme oo © feggst 3 amie ©
fie &3 a® Isififentt = AIfus
Aot €397 § 99 feawut g & @
fafent § AHS 3 AT feasy & 92 J:
(1) frge fifer () &q der J1
2) fAIe fier (i) &g Je J|
(3) fAge fiter () 7 fAe (i) &g Jer J1
@) & 3t fHer (i) »i3 & It fHe Gi) &a
Jer T

feggs . miTg T nrewEt w95 3

d98t mi3 Aegr feg® 900 km T HAEd

280 km wWe AT JI fEH &% ATET 7.92

93 JUT ¥ Tius o 993 JeT J|

fier :

(1) AHET I nfeTel, RISt nirerarst
T IS AAST Ut T

(i) Sz & 93 T3 UUT I IS
gratet 1

P.T.O.



57.

58.

59.

60.

Statements : Good voice is a natural gift,
but one must keep practicing to improve in
the field of music.

Conclusions :

(i) Natural gifts need nurturing and care.

(i) Even though your voice is not good,
one can keep practicing.

Statements : Domestic demand has been
increasing fast then the production of crude
oil.

Conclusions :

(i) Crude oil must be imported.

(i1)) Domestic demand should be reduced.

Direction (Q. No. 59-60) :

Given below are the three different
positions of a cube, which has written a
different number 1-6 on each of its face.
Examine the pictures carefully and answer
the questions that follow :

3 3 4

® (i) (ii1)
Which number is opposite of 6 ?
1 1 @) 5

3) 4 “4) 3

Which number is opposite of 2 ?
1 1 (2) 4
3) 3 4 5

PSTSE-X-2023
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57.

58.

59.

60.

fegas : Heg nrew qE9sT e Jet I,

ug fer & wifsnmA gdt Hafts © 839

fe9 gufant 77 Ao T

fier :

() deIst Safent
»3 Jet J|

(i) 3= ITST nrew dat & & I=2, feg
2t nifswmA g9 Ifoe grdter I

3t A3 HI®

o

fegas : 9 3% ©F Ha G3uws
fmfmeT Joet T

fier :

() T 3% T W Jg&T IrIter J|

(i) 9 3B T WIS HaT & wegT
grdter J1

fogerm (Yrs 59 - 60) :

J&T 3 TY Y YI'I ¢ wWE fe3 aT I,
figt @ U Y BT I T TH M 1-6
fsu IT g51 fo39 § fumrs 5% 28 w3

fe3 ymst © 8739 feb:
3 3 4
2 6
6 5 3 3
(@) (ii) (iii)

6 ¥ faoa® 8vc fxagt Aftmr T 2
M 1 2) 5
(3) 4 4 3

2 ¥ fama® Bwe fxast Aftmr 3 9
(H 1 (2) 4
3) 3 @4 5



61.

62.

63.

64.

65.

Direction (Q. No. 61-68) :

Find missing term :

52 6 82
34 60 98
48 ? 79
(1) 31 (2) 36
(3) 48 4) 63
36 22 27
42 23 84
26 18 ?
(1) 24 2) 69
(3) 78 4) 96
9] 8 | 7]
7 | 2 9 | 3
5] 9 | 2]
(1) 3 2) 4
(3) 6 4) 8
9 36 25
4 16 1
1 25 49
6 15 ?
1) 5 @) 11
(3) 13 4 15
X
V4
(1) 255 2) 275
(3) 263 4) 315
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61.

62.

63.

64.

65.

fogem (YA 61-68) :
BUI UT U™ I
52 6 82
34 | 60 | 98
48 ? 79
(1) 31 (2) 36
(3) 48 4) 63
36 22 | 27
42 | 23 84
26 18 ?
(1) 24 2) 69
(3) 78 4) 96
9] 8]
7 | 2 9 | 3
5] 9|
(H 3 (2) 4
3) 6 4) 8
9 | 36 | 25
4 |16 | 1
1 | 25 | 49
6 | 15 9
H 5 2) 11
3) 13 4) 15
'
4
(1) 255 (2) 275
(3) 263 4) 315

] [

P.T.O.



66.

67.

68.

69.

70.

MNET T Sa
B
(1) 125 (2) 196
(3) 216 (4) 289
1 3 1
IO OO}
4 7 8
(1) 570 (2) 980
(3) 890 4) 1050
7B 5C 6B
3C 9B 19A
40A | 56A ?
(1) 105B (2) 225C
(3) 325C (4) 441B

Direction (Q. No. 69-72) :

Figures A and B are related in a particular
manner. Establish the same relationship
between figures C and D by choosing a
figure from amongst given alternatives,
which will replace the (?) mark in figure D.

0RL 7| MOCH

@A B © O @O @ 3@

QIOIR[?|@(00|0

@A B © O @O @ 3 @

PSTSE-X-2023
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66.

67.

68.

69.

70.

ae
QR

(1) 125 (2) 196
(3) 216 4) 289
1 3 1
IOINOINC}
4 7 8
(1) 570 (2) 980
(3) 890 (4) 1050
7B 5C 6B
3C 9B 19A
40A | 56A ?
(1) 105B (2) 225C
(3) 325C (4) 441B
fogem (YAs 69 -72) :

Jot fe3 fosgt A ni3 B o9 f£'q ym
Ao J1 fem 39t & A¥g fg'39 C »3 D
fe9 8t €39 @ 9= &9, A fo'39 D &t

DO MIOEE
1 2 3 @

(A) (B) (©) (D)
QIO1@(?1]l@|3[0|0)
1 2 3 @

A) B) © D)




71.

72.

73.

74.

75.

76.

77.

w]0?

@A) B) © (1

SISl ARSI ESH )

A B © DO @O 2 G P
Direction (Q. No. 73-76) :

M

0

i

I

2 3 @

In each of the following questions, out of 4
figures, three are similar in a certain way
and one is not like others. Find out the
figure which does not belong to the other
three figures.

AN |\ |\ | N
“m oo e @
4] s3] @ e
I RO BN O
“m oo e @
“m o e @

How many squares are there in the given
figure ?

(1 12
(3) 18

@2) 15
@) 20

PSTSE-X-2023
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71.

72.

73.

74.

75.

76.

77.

A B ©OOMD® @O 2 G &
5T P &3] 8
A B ©OD @O 2 B3 (D
fsgem (yas 73-76) :
Jot f£3 99 yas o9 99 fozar oo
fe' fa3g feost 3 @9 J1 Tygr fo'sg
EL
AN [\ |\ | <N
(1) (2) 3) 4)
4] p{5F| @&F (AP
(1) (2) 3) 4
(1 (2) 3) 4)
(1) (2) 3) 4
fg'3g feg gar < farsst € R
(H 12 (2) 15
3) 18 4 20

P.T.O.



78.

79.

80.

81.

82.

83.

84.

How many triangles are there in the given
figure ?

2) 25
“4) 29

(1 22
(3) 28

Direction (Q. No. 79-82) :

Each of the following questions choose the
correct water image of figure (X) from

given alternatives :

-z%-%

.‘.O@
(1) ) (3) “

% 2 ] R

X) D @ 3) “

9 1% [ 5

(X) (1) @) 3) @

Direction (Q. No. 83-86) :

Each of the following questions choose the
correct mirror image of figure (X) from the
given alternatives :

9,9, ¢

(X) -» @ 3 “
¥ A
X) ey 2 3 “

PSTSE-X-2023
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79.

80.

=

81.

82.

83.

84.

() 22 (2) 25
(3) 28 4) 29
fogem (yrs 79 - 82) :

Jst fe3 fg'39 (X) © Ut ¥ St y3Sifag
g o3 feamut fe9° 9 &9:

0..0@

1) () 3) “

% 2 ] R

X) ey 2 3 “

9 15 [ 5

(X) (1) ) k) @

fogerm (Yms 83 - 86) :
It fe3 o339 (X) © #7 ¢ ot y3Sifds
ot fe3 feawmut fog° g9 o9

39,9, 6

(X) (€5 N ) B €)) “)
¥ A
X) ey (©)) 3 “



(17)

85. 85.
Mol e ole o1 Mol el ole o
X) (1) 2 3) (4) X) ey (2) (3) “4)
N ..dl'l ) 4 = X A N ..dld ) . . X e 24
X) 1) 2 3) “) X) ey (2) (3) “
Direction (Q. No. 87-88) : fogenm (yms 87-88) :
Each of the following questions complete Jat f&3 fo39 (X) © ®u3 391 & fe3
the missing portion of figure (X) according HS WGHT 395 Bt AT feasu &t 5=
to the given pattern by selecting from the 3(%
given alternatives : '
87. 87.
i a4 aa a . a4 aa a
(X) (X)
88. 88. I
Wz “w%
\H \
X) (1) (2) 3) (4) X) 1) 2 (3) )
Direction (Q. No. 89-90) : fogem A& 89-90) :
In each of the following questions, choose aﬁr ICESRLE YHS feg fe3 feamu
the answer figure in which question figure feg 8 femau & 9= =9, fan f&9
is embedded. Y f9°39 T fo'39 Uz dfenr 3:
89. 89.
| (A | (A
X) ®» 7 6 @ X) ®» 7 6 @
SR S e D DR
X) OO NC) X) OGO IC)
PSTSE-X-2023 P.T.O.



91.

92.

93.

9.

9s.

96.

SCHOLASTIC APTITUDE

A spherical mirror and a thin spherical lens

have each a focal length of —15 cm. The

mirror and the lens are likely to be :

(1) Both concave

(2) Both convex

(3) The mirror is concave and the lens is
convex

(4) The mirror is convex and the lens is
concave

The change in focal length of an eye lens is
caused by the action of the :

(1) Pupil

(2) Retina

(3) Ciliary muscles

(4) Iris

Which of the following terms does not
represent electrical power in a circuit ?

(1) I’R (2) IR?

(3) VI 4 V%/R

A positively charged particle (alpha
particle) projected towards west is deflected
towards north by a magnetic field. The
direction of magnetic field is :

(1) towards south (2) towards east

(3) downward (4) upward

At the time of short circuit, the current in
the circuit :

(1) reduces substantially

(2) does not change

(3) increases heavily

(4) vary continuously

An electric bulb is rated 220 V and 100 W.
When it is operated on 110 V, the power
consumed will be :
(1) 100 W

(3) 50w

2) 75W
4) 25W

PSTSE-X-2023
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91.

92.

93.

9.

95.

96.

fefinit €t GarsT
BT TIUT i3 IR USS TBT & 6d
et Enft SIH TIAT - 15 cm IS5 | TIUE
3 ¥ AIfe3 Ta ¢
(1) 2 ne3®H
) ¥ €33
(3) TIUT WiT3H N3 Bod 83%

~

(4) TIUT B3% »i3 35 niE3H

337 Bod = A T feT ufgedss
3T AT J

(1) ysdt gorar

(2) Sfeat enmar

(3) fafenmdt Udt Tnmar

(4) wifefar

&9 famsst mast & &Jt Tarm8er ¢

() I’R (2) IR?

(3) VI 4) VZIR

UgH 3% ufeafuz o€t us gefas &
(M@ FF) fam Jaat ¥39 enrdr 839
3% fegfuzs g AT J1 Juat g39 ©F femr
J:

(1) Tz 3I®
(3) Jor IH

(2) Y99 I3
4) BuIIH

HdC AJdC AN Addc fe9 famsst gar
T HS

(1) g3 ufe J Aer J

(2) ufgeafzz &dt Jer

(3) 993 nifux 2u AT I

(4) f&d39 ufgeafsz Jer I

for farsst g9 €3 220 V i3 100 W
nifaz J1 7€ fer & 110 V €3 9% J9e
J6 3T fer enrar =33 FasSt d_dt

(1) 100 W (2) 15W

(3) 50 W 4) 25W




97.

98.

99.

100.

101.

102.

103.

The least distance of distinct vision for a
young adult with normal vision is about :
(I) 25m (2) 2.5cm

3) 25cm 4) 2.5m

While examining Avtar's toothache, the
doctor used a mirror. Which mirror was
used by the doctor ?

(1) Convex
(3) Plane

(2) Concave
(4) None of the above

Which of the following equations is right ?
() v=u-—at 2) v=u—at’
3) v=u+at (@Y) v=u+at?

Which of the following represents correct

relationship between force (F) and
acceleration (a) ?
1 r=" (2) F=ma
a
2 m’
3) F=ma 4 F=—
a

If we push a wooden box on floor with a
force of 200 N. What would be the force of
friction acting on that box ?

(1) 200N

(2) 200N

(3) 2001

(4) None of the above

The human eye forms the image of an
object at its :

(1) Cornea (2) Iris

(3) Pupil (4) Retina

The motion of earth around sun is called
.......... motion.

(1) Linear (2) Circular

(3) Periodic (4) All of the above

PSTSE-X-2023

(19)

97.

98.

99.

100.

101.

102.

103.

Fuds ferdt © fouast st Aume
TIHS T mEU=H Tt It I, SIS ¢
(1) 25m (2) 2.5cm

(3) 25cm (4) 2.5m

39 ¥ def f&g W 3 3 3T 3
fEa Tauz gt 8r © < < 79 T,
3ed °% faozT Tduz Quudr o3t
famir 2

(1) €38 (2) 3B

(3) AH3S (4) =t &I

Jo Toftmit o9 faozT mitaes 7073 2
(1) v=u—at 2) v=u—at’

3) v=u+at 4 v=u+at

9% (F) »3 YJT (a) € AEU & TIART

HIl Avtaas fagst T 2

1 r=" (2) F=ma
a

2

(3) F=md* @4 r=""

a

A B @33t € 5H § 200N & 55 &I
BR& AiET 91 5 S9H 3 Tose 7| 5o 3 &I
5 I T Toler I=aT ?

(1) 200N

(2) 200N

(3) 20017

4) fegst &9 o=t adt

Hedl »iy far g1 €3 fan =Rz ©
yf3fig s=€<t I, 89 T :

(1) TrgatmT (2) wrfefor

3) ys@ (4) Jfear

HIH T U9t & a7 .., st <t
Beragz T

(1) AI® It (2) JITIT

(3) megst (4) usas A9



104.

10s.

106.

107.

108.

Barium chloride on reacting with sodium
sulphate forms Barium sulphate and sodium
chloride which of the following correctly

represents the type of reaction involved ?

I.  Displacement Reaction
II.  Precipitation Reaction
II.
Iv.
e))
3)

Combination Reaction

Douple displacement Reaction
Only I (2) Only Il
Only IV (4) and IV

Ester are formed by combination of :
(1) Alcohol + Aldehyde

(2) Carboxylic acid + alcohol

(3) Carboxylic acid + aldehyde

(4) Alcohol + Ketone

Which of the following is correct sequence
of reactivity series ?
(1) K, Na, Mg, Ca
(2) K, Ca, Mg, Na
3) K, Ca, Na, Mg
(4) K, Na, Ca, Mg

When we put some crystals of potassium
permanganate in a beaker containing water,
we observe that after sometime whole water

has turned pink. This is due to :

(1) Diffusion

(2) Melting of Potassium permanganate
(3) Sublimation of crystal

(4) Boiling

Calculate the molecular mass of Ethane

(C2H6):
(1) 16 2 304
3) 63 4 181
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104.

10s.

106.

107.

108.

JIMH ABTES M3 ASIH  ABec
yStfafo™ ads 3 I9H A%ee M3
ASiH I&IES ge@er J1 JIo fefmr
<t famH & TaA8er I |

I femaus fafonr

II. weuus fafonrr

. Auds fafam

IV. go9 ferays ffonr

() 1fAge 2) 1fAdge

(3) 1v fAge 4) I M3V

AT fda™ @ AR 3 93¢ J6:

(1) MBAISH + MSITTES

(2) IITSIABS IAT + NMBIAIH

(3) AITIABS 3T + MBIITES

(4) MBATH + Aes

pAuS.

fegst 9
AIt 0 T 2
(1) K, Na, Mg, Ca
(2) K, Ca, Mg, Na
3) K, Ca, Na, Mg
(4) K, Na, Ca, Mg
A WiHT UTHMH UgHdde © oS o &
gmiE YyJ UE T 91 I J AT,

oz fSfonmitesT &3t =

feg UcHMWH udRdde T ooz ae
TIABE I :

(1) UgHJdE

(2) USTHMIH UIndiae o fuuss

(3) #og Gz8

(4) Bz

B85 ( C,Hg ) © nET YA & JEar
9

(1) 16
(3) 63u

2) 30
@) 18



109.

110.

111.

112.

113.

114.

Baking soda is a mixture of :
(1)
(2)
(3)

Sodium carbonate and Acetic acid
Sodium carbonate and Tartaric acid
Sodium hydrogen carbonate and
Tartaric acid

carbonate and

(4) Sodium hydrogen

Acetic acid

In electrolytic refining, the impure copper
rod is made of :
(1) Anode
(3) Cathode

(2) Carbon
(4) Graphite

Two substances A and B when brought
together form a substance C with the
evolution of heat. The properties of C are
entirely different from those of A and B,
the substance C is :

(2) An element

(4) Atom

(1) A compound
(3) A mixture

An element 'A’ is soft and can be cut with
knife. This is very reactive to air and cannot
be kept in open in air. It reacts vigorously
with water. Identify the element from the

following :
(1) Mg (2) Na
3 P 4) Ca

The mass number of an element is equal to :
(1) Number of neutrons

(2) Number of electrons

(3) Number of protons

(4) Number of neutrons + number of protons

A reducing agent :
)]
2
3)
“)

Loses electron
Gains electron
May gain or lose electron

Neither gain or lose electron
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109.

110.

111.

112.

113.

114.

ASiH 98ac w3 wiFlfes mifAs

ASiH 988 W3 Taciad wifis
AStoH  TE3As J9dde i3
ZraeTad wifis

A EGHS
A TR

wiAtfes mifAs

SIS T YRR E

A € uT9g A »i3 B fHee #@fe g5 3
UTgg C g3¢7 I »i3 3w & foaH
Jor I CT IS A3 BT aE 3
fowa® 2u9 I&51 Ue9g" C ot J ?

(1) f&x dfaa
3) f&'x furas
f€x 33 A 594 I 3 TF 518 I fenfm
e J1 feg e yIH =03
Iftmr 77 AeeT I | feT ust 5% daeg

Q) fFa33
4) UJH'E

yStfafon s9er I1 Js fou 337 fe T
fer & ugE &9

(1) Mg (2) Na

(3) P (4) Ca

(1) 6825 <t Aftmr
(2) fedags =t Aftmr

(3) Uls <t Hftmrr

(4) fo€w & Hitmm + Yy &t Aftmr
e BWad :

(1) fedaes de8er I

(2) fedaes yus ager J|

(3) feddes yus 9w I A d8Tr JI
(4) & fEPdes Yyus F9r I & derger J1

P.T.O.



115.

116.

117.

118.

119.

120.

CH;

The IUPAC f
e name o CH;

(1) 1, 1-Dimethyl-2-ethene
(2) 2, 2-Dimethylethene
(3) 2-Methyl propene

(4) 2-Methylprop-2-ene

>C: CH> is :

The substances having pH more than 7 are :
i.  Common salt

ii. Washing soda

iii. Vinegar

iv. Sodium hydroxide

(2) iiandiv

(4) onlyiv

(1) 1,1ii, and iv
3) 1i,1ii, and iv
Lack of Oxygen in muscles often leads to

cramps among cricketers. This result due
to:

)]
2
3)
“)

Which of the following is not controlled by

Conversion of pyruvate to ethanol
Conversion of pyruvate to glucose
Non conversion of glucose to pyruvate

Conversion of pyruvate to lactic acid

medulla in the hindbrain ?

(1) Blood Pressure
()
3)

“4)

Recessive character will appear in :

Salivation
Body Posture

Vomiting

(1) F, generation
(3) Both Fyand F, (4) F;only

(2) F, generation

Musk of coconut is made of :
(1) Sclerenchymatous tissue
(2) Parenchyma

(3) Collenchyma

(4) Chlorenchyma
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115.

116.

117.

118.

119.

120.

CH;

=C = CH; fer = IUPAC 31 3
3

1) 1, 1-3shHEEt®-2-Sdts
(2) 2,23 HEEteStEs
(3) 2-fHerfem it

(4) 2-fiEetelu-2-gts
pH7 3 €T & UT'9E I |
i AUIS BT

ii. TUF T% AT

iii. fAgar

iv. ASH JTEIBISHES

(1) 1i,ii, M3 iv (2) i3 iv
(3) iiii,»MIiv @) ivfAge

HAUEMT &9 wiaAias & st nidAg
fqareat fe'g nigg™r e a9t J | fem
TIIE T |

(1) ueigee @ gges e g sess

(2) UTEIgRT T IBAH

(3) IBAA T UEIgRe T U & gEHT

4) udigRe T ¥Afead ifis o8 geae
Jo fefunr fo5 fagdt fafonr, fuss
&dt get T

() ®J T 898

(2) &9 o

(3) AT T wiAE

(4) B&t nigE

Y BEs o fouret fiée I8 ¢
(1) F i3t 2) F, Wt
(3) F\n3 F,eT (1) fAgeF;

I = fawar gfen Jer T
(1) AISIEIEH feg

(2) UAISIEHT

(3) ABEATETHT

(4) ABISATETHT

fe'g geoT




121.

122.

123.

124.

125.

The proteins and lipids essential for building
the cell membrane are manufactured by :

(1) Endoplasmic reticulum

(2) Golgi apparatus

(3) Mitochondria

(4) Peroxisomes

Which one of the following species of
honey bee is an Italian species ?

(1)
(2)
(3)
4)

Apis florae

Apis dorsata

Apis mellifera
Apis cerana indica

In human males, the testes lie in the
scrotum because it helps in the :

(1
()
3)
“)

Which one of the following statements is
the

Process of mating
Formation of sperms
Easy transfer of gametes
All of the above

correct about human circulatory

system ?
(1)
)
3)

Blood transports only O, and not CO,
Human heart has five chambers
Valves ensure that the blood does not

flow backwards.

“)

Both oxygen rich and oxygen deficient

blood get mixed in the heart

Which is the correct sequence of the
components of a reflex arc ?

(1) Receptors — muscles — sensory
neuron — motorneuron — spinal cord
(2) Receptors — motorneuron — spinal
cord — sensoryneuron — muscles

(3) Receptors — spinal cord — sensory
neuron — motorneuron — muscle

“)

Receptors — sensory neuron — spinal
cord — motorneuron — muscle
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121.

122.

123.

124.

125.

fom g fsafis J€ a5 7
(1) M3USAH 7%

(2) IS arfenret

(3) HEEIZIMT

(4) UdSHAHA

Jo fodnr fo5 faost mitrs mfoe &
ot &t ffx feest @t miAs J1

(1) mifum &It

(2) nfur 3IReT

(3) Mifum AEET

4) nfur AT festar

Hedt &9 o9 usmnt, U3 B9 fS
AfEs I I a8 fa f&g Hee 9T I |
(1) ¥ = yfafon g

(2) HIIE € G3uEs BE

(3) GIHx = Ay Ufdefas d=r

(4) Busa3 A9

JE& AIt I 2

(1) &g fAge 0, = ufgsgs J9e J &
a COo, T

JI

THme B @ Buct fegr o9 =foz T
Je II

few feg @6 wiaAAe @as »i3
aAHs Ifa3 &g mur <9 s
qer T | )

yf3east wmex € IO ¥ AT gH
faazm I 2

(1) ot —» Uit — At fs@gs —
U9e f689s — HuHar &=t

Tt — Y 6896 — mureT &3t
aﬁ%ﬁ%@mgéinﬂ

I — FuHE 573t — Ae fs
— JIx feBas — urt

2 LN

It — Al 6895 — FuHeT &3t

2

3)

“)

)

3) Js

uapd

“4)

— U9 fsQars — Tt

P.T.O.



126.

127.

128.

129.

130.

Which one of the following statement is
true ?

(1) In humans there are two pairs of sex
chromosomes

A child who inherits an X-chromosome

from father, will be a boy

2

(3) A child who inherits an X-chromosome
from father will be a girl
A child who inherits an Y-chromosome

“4)

from father will be a girl

Lysosomes arise from :

(1) Endoplasmic reticulum

(2) Golgi apparatus

(3) Nucleus

(4) Mitochondria

Primary consumers form .......... trophic
level.

(1) Second (2) First

(3) Third (4) Fourth

Asexual reproduction takes place through
budding in :

(1) Amoeba (2) Yeast

(3) Plasmodium (4) Leishmania

Figure shows pyramid of biomass at
different trophic levels. At which trophic
level the biological magnification of DDT
would be highest :

| Pelican | E

‘ Large fishes |D

Small fishes C
| Zoo planktons IB

| Phytoplanktons

(D
2
3)
“4)

AtA &C
At A only
AtA &B
At E only
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126.

127.

128.

129.

130.

Jo &3 quer &5 fxozr fda /dt T 2

(1) Hey feg féaft ez & € 73 I
T

) fég s9r faAg Xagerss fusr
yuz ger I, 89 fEa »3ar d=ar |

e

(3) fég ¥9r fAE X-gemEs9 fusr 3
yuz ger I, 89 f¥a w3t J=att|
@) fég s9r faAg Y-gerss fusr 3
yuz ger I, 89 f¥a »Iet J=art |
BEAAH fom 3 Jer J9 9% ?

(1) MIUSHH 7%
(2) IS e
(3) dTIA

(4) HEeSZIMT

yferdt wusas fam wodt uug 3
e a5 2
(1) g 2) ufgsr
3) S (4) <@
Jer J ¢
(1) nidta (2) Hre
(3) UBTHHSIMH  (4) BAHBMT
fgzg &g yy wodt Uog 3
gfe8HH ¥ fugHs feurfenr famr T
fegat f&g° far wirardt Yug 3 dfex <ud
DDT ¥ AF 3 27 J<dr ¢
UStas Ut |E
| =twt D
22t Het C
| ¥ uBdee B
| T UBdes
(1)
(2)
(3)
4)

AM3C3
ATBAS
AM3IB3
JBES



131.

132.

133.

134.

135.

136.

137.

5.23is:

(1) An integer

(2) A rational number
(3) A natural number
(4) An irrational number

Find a number whose square root is twice
of its cube root :

(1) 64 (2) 128

(3) 16 4) 4

Product of (x* +2x+4)and (x—2) is :
1) (x-2)° 2) x>+8

(3) x*-4 4 x°-8

In given figure if ABIICD, then value of
X+yis:

A P B

- 47° 52° -

o 4% Dot

c Q R D

(1) 99° (2) 185°

(3) 180° 4) 81°

If V4096=2%, 2187=3" and 3125=5°,
then value of x + y—zis:

(1) 8 (2) 25

3) 15 4 9

Mean of 11 numbers is 50. If one number is
excluded then mean of remaining 10
numbers is 48. What is the value of
excluded number ?
(1) 50
(3) 98

(2) 48
) 70

In what ratio does the point P (1, —-1)
divides the line segment joining A (3, -5)
and B(4,9)?
1) 2:7
3) 5:2

(2) 2:5
4 7:5
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131.

132.

133.

134.

135.

136.

137.

(1)=64

(2) 128
3) 16 4) 4
(x2+2x+4)m_3’(x—2)€'rm :
(1) (x-2)° 2) x*+8

3) x° -4 4 x-8

f@3 fg39 9 ABICD d=° 3T x + y &
HS :

A p B
- 47° 52° o
o1 L
c Q R D
(1) 99° (2) 185°
(3) 180° 4) 81°
g A4096=2" | 2187=+3" w3
3125=5°92 ITx+ y—z T HB:
1) 8 (2) 25
(3) 15 4 9

11 Aftmiet @r HoHs 50 3 7 feost f&5°
fea At & &5 37 72 37 g6t 10
Aftmiet @7 HUH™S 48 J AT JI 3T
et At T 4® ot I ?
(1) 50 (2) 48
(3) 98 4) 70

A (3,-5) M3 B (4,9 & fH®Bz T&
JuHs § P (1, 1) far nigus &9 <3er
J?

1 2:7

3) 5:2

2) 2:5
4 7:5

P.T.O.



138.

139.

140.

141.

142.

If radii of bases of a cylinder and a cone is
same and also height of both are same then

ratio of volume of cylinder to volume of

cone is :
(1 2:1 2) 3:1
3) 4:3 4 3:2

In given figure AB and AC are tangent
lines drawn from an exterior point A to a
circle with centre O, if AB = BC, then
value of ZAOB s :

(1) 60°
3) 90°

(2) 120°
4) 30°

If cos49—sin49=§, then 2cos*0-1 is

equal to

(1) 0 21
2 3

3) = 4) =

3) 3 4 5

Diameter of wheel is % m. How many

revolutions will wheel make to cover a
distance of 8 km ?
(1) 1000

(3) 2000

(2) 1500
4) 1700
A Jar contains 24 marbles, some are green

and some are blue. If a marble is drawn at
random from the Jar, the probability that is

green is %.Find number of blue marbles in

the Jar :
(1) 8 2) 6
(3) 16 4) 18
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138.

139.

140.

141.

142.

o f8q <% n3 81 Hg © »iuS & w9y
fon™r g999 9 iz d&F dF Guet &
AHS d° 3t W w3 Hg © nifess &
nEUTS

1) 2:1
(3) 4:3

2) 3:1
4) 3:2
f&3 fg39 &9 AB 3 AC 39 O ¥%
939 €t gt fig A 3 fufontt muan
Juet g5 7 AB = BC d° 3T LAOB

(1) 60°
3) 90°

(2) 120°
4) 30°

EG) cos46—sin49=§ 3t 2c0s?0-1 =T

Y]

HS :
(1) 0 2) 1

2 3
(3) 3 4) >

ﬁam@m%ma 8 ff,
ot 3fg 395 BE ufonr fd& dag
HIrrEdrT ?
(1) 1000
(3) 2000
feaq a9 &9 24 92 Ts, Gust &9 I3
T 3 I A 517 R 52 & faer oy
79 &g dfent famr I, = I g3 ©
a—a'f@?rﬁ@w%% | 7 e a8
gSfentt €t farsst €7 ¢

1) 8 2) 6

(3) 16 4) 18

2) 1500
@) 1700



143.

144.

145.

146.

147.

148.

149.

If x>+5x+a and x>+3x+b have a

common root, then common root will be :

1) a+b ) a—->b
2
3 274 4) a+b
2
The pair of equations 2x + 3y = 12 and

6x + 9y =48 have :
(1) Unique solution
(2) Two solutions
(3) No solution

(4) Infinite many solutions

In an A. P. 8th term is 12 and 12th term is
8, then 15th term is :
() 19
3) 11

2 5
4) 15

If diameter of a circle is decreased by 20%,
then how much percentage decrease in area
of circle will be there ?

(1) 40% (2) 36%

3) 64% 4) 60%

If 2% =64and 3%**Y =27, then value of x
will be :
(1 2

(3) -3

2 -1
4 3

A number consists of two digits. The sum
of both digits is 11. If 27 is added to the
given number then digits interchange their
places. What will be given number ?

(1) 65 (2) 47

3) 83 4) 92

In quadrilateral ABCD, ZB =90°, £C - £ZD
= 60° and ZA - ZC — 2D = 10°, then
smallest angle of this quadrilateral will be :
(1) 35° (2) 25°

(3) 50° (4) 55°

PSTSE-X-2023

(27)

143.

144.

145.

146.

147.

148.

149.

T x2+5x+a i3 X2 +3x+b T f¥x HS
ATST J 3t ATST 4 Jear ?

1) a;—b ) a—>b
(3) b;“ 4) a+b

TGS 2x + 3y = 12 ™3 6x + 9y = 48
ESLI

(1) fExa® T

(2) € I% Is

(3) I TH &I

(4) »id3 I% TS

7 fon vig afssa ®3t = 8= U 12 mis
1237 U 8 T 3 153 UT J=ar ?

(1 19 Q) 5

(3) 11 4) 15

7 g gag © fenmA &9 20% &
g &3t Ae 3 87 Ia9 T u3dew fos
yStHs ot wieatt ?

(1) 40% (2) 36%

(3) 64% 4) 60%

~

H 25V =64 M3 32V =27 F 3t xow
HS

1 2
3) -3

2) -1

4 3

g niqr T Jftm € wigr = 83 11 J|
Hog Hfunr feg 27 73 3T 7 37 wix
PUST AES 9% ®¢ 96| o3t Afunr
(1) 65
3) 83

(2) 47
4 92

93937 ABCD 9 ZB =90°, ZC - /D =
60° W3 LA - £C — /D = 10° JI1fer
U3997 © AT 3 8¢ J& ©F HY J=dTI ¢
(1) 35° (2) 25°

(3) 50° (4) 55°
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150.

151.

152.

153.

154.

155.

156.

In given figure OP Il NM and ON Il PM if
Z0OAB=50°, then Measure of ZOBA is :

(1) 90°
(3) 40°

(2) 50°
(4) 45°

Where did Chernobyl incident take place ?
(2) In India
(4) In Ukraine

(1) In America
(3) InJapan

How much time is advance of India's standard
time as compared to Greenwich time ?

(1) Half and 5 hours

(2) Half and 7 hours

(3) Half and 9 hours

(4) Half and 10 hours

Which is the example of National resources ?

(1) Minerals
()
(3)
“)
Which is not the Himalayan ranges ?
(1) Rakshposhi (2) Dafla

(3) Jaskar (4) Nilgiri

Water resources
Forest and Wildlife
All of the above

Where did take place Earth conference in
Rio-de-Janeiro ?
(1) In 1990
3) In 1991

(2) In1992
(4) In 1995

Which is the top point of Indian peninsular
plateau ?

(1) Visakhapatnam

(2) Meghalay

(3) Kanyakumari

(4) Punjab
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150.

151.

152.

153.

154.

155.

156.

fes fg'39 S99 OPINM WS ON I PM J |
Z0OAB=50° 32 3t ZOBA & HV :

B
4@

D N
"y

M
(1) 90° (2) 50°
(3) 40° (4) 45°
I969% UIH'T 15 fa g sufonr A 2
(1) Mt (2) I3
3) AUS 4) IS
393 & Hak AN d9is ff9 & AN I
fdar vidr I 2

(1) A= yFue
(2) AR A3 U
(3) A= & U
(4) AT e U

fegst o9 IHedt AUs & Geads
faast T 2

(1) ufew yegg

(2) USt T AS3

(3) A% 3 FI& A6

4) 8udas A'Y

faast uggs gt foufenmst ad7° 3 ¢

(1) ISHUAT (2) BeH

(3) THAAI (4) atsfargt
NE-St-Ad9 goH® fog uast ARSs o
JIfenm A 2

(1) 1990 (2) 1992

(3) 1991 4) 1995

393t yrfeehft us e e e fagsr
J?

(1) ferdauesH

(2) HurfEnT gret

(3) Afem™ IHTIT

(4) da=



157.

158.

159.

160.

161.

162.

163.

164.

165.

How many species of creatures found in
our country ?

(1) 81000 (2) 91000

(3) 51000 (4) 31000

What is the any another name of bari doab ?
(1) Malwa (2) Chajj

(3) Naili (4) Majha

Which river works as a border between

Hindustan and Pakistan these days ?
(1) River Ravi (2) River Chenab
(3) River Beas (4) River Satluyj

In how many parts in divided Punjab as
Geographical point of view ?

(1) Four (2) Three

(3) Five 4) Six

The poets were in which category in the
Muslim society ?
(1) High class

(3) Middle class

(2) Lower class
(4) None of the above

When did Delhi make the capital of India ?

(1) In 1911
(3) In 1940

(2) In 1930
4) In 1935

When did tennis court oath take in France ?
(1) In4thJuly 1789

(2) In 20th June 1789

(3) In 4th August 1789

(4) In 5thJanuary 1789

Where did Syed Jalaluddin live ?
(1) In Sirhind (2) In Amritsar
(3) In Ludhiana (4) In Samana

Who become the heir of Maharaja Ranjit
Singh ?

(1) Mohar Singh  (2) Chet Singh

(3) Khadak Singh (4) Sahib Singh
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157.

158.

159.

160.

161.

162.

163.

164.

165.

yAShort fisett Is 9

(1) 81000 (2) 91000

(3) 51000 (4) 31000

gt T © £ 39 fagzm o T 9
(1) H®=T (2) oA

(3) 3t (4) HTsT

Wda I8 fde U AHT & aH faost
ofgnr J9e7 T ¢

(1) It eforr (2) Tag TfPr

(3) foumm =fenm  4) A3®A Tfonr
2z famm T 2

(1) 979 2) 35

(3) ud 4

¥ HAGH AHHE © foog 9o fe9
m8¥ AE ?

(1) 8% =gar (2) foHs =g

(3) WO TIdr (4) I &I

fe@ & 393 & gHust o gefenr
fomrr 2

(1) 1911 (2) 1930

(3) 1940 (4) 1935

eIR fe9 2fer 33 7 2 got aret ?
(1) 47®=t 1789 SiA=<t

(2) 2095 1789 TIA=T

(3) 4 WAz 1789 AT

(4) 5 Fs<I 1789 TRt

HEME Aogels fa g e Ifde T H ?

(1) AJJE =" (2) wifysHI =
(3) BT (4) AHE T

HagH IeA3 fRw = €39fusat d=
gfemr 7

(1) Ha9 fAw
(3) w3 fRwr

(2) ©3 fAw
4) mfog fAw

P.T.O.



166.

167.

168.

169.

170.

171.

172.

173.

When did Bolshevik or first socialist
revolution happen in Russia ?

(1) In1918 (2) In 1917

(3) In 1919 (4) In 1920

When did Bangladesh establish ?
(1) In 1975 (2) In 1978
(3) In1971 (4) In 1968

How many members elected by Rajpal in
the legislative council ?

ey 2)

3) “4)

Which country gave the motivation to adopt
parliamentary democratic system ?

(1) England (2) France

(3) Germany (4) China

Who said the democratic government is of
the people for the people and by the people ?
(1) Washington (2) Lincoln

(3) Lenin (4) Jefferson

What is the motto of India's foreign policy ?
(1)
(2)
(3)
“)

Which is not the union territory of the

Secularism

Economic development
Foreign policy

Non aligned

following ?
(1) Rajasthan
(3) Chandigarh

(2) Delhi
(4) Puducherry

Who has the right to increase and decrease
the counting of the judges of supreme court ?

ey
()
3)
“)

Prime Minister
Opposition
Rashtrapati
Rajpal
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166.

167.

168.

169.

170.

171.

172.

173.

gr fe9 Smnfes & feme & ufodt
AN 1St o JET ?

(1) 1918 ERET (2) 1917 SR
(3) 1919 St (4) 1920 SRt
Sa%eH € AEST g Jet ?
(1) 1975 (2) 1978
(3) 1971 (4) 1968

BTHAE &deT J ?

1 1
H — 2) —
()6 ()8
1 1
3) — 4) —
()2 ()3
fqo3 &7 & weft &€ ¥ § HAS

BASIIT YITH muT 8T T I I3t 9

(1) féass (2) e3H
(3) AIHET 4) d=

fog far & fagor I & %339 As3T
63T ¥ BT M3 7637 2% AJAT J ¢
(1) efddes & (2) féas &

(3) 3fes & (4) HEIAS B

g9 © fedm aist = f£x v fAu's

s

<H ?

(1) TaH feguysT (2) migfad feaA
(3) feem &3t (4) die feauuzT

Js Tttt &5 faoz™ a'wd HHI 839
3T 2

(1) IHAES () fest

3) IStz 4) yzodt

AT 87 T wiE®3 © 7at of farsst wes
3 Tugz © niftag fam a% I ¢

(1) yurs H3dt &

(2) feott =% 3%

(3) THSIUST 3B

(4) IHAUS A%




174. How many total High Courts in the whole

country ?
(1) 20 (2) 25
3) 23 4) 27

175. With whom is related to Indian Government

fiscal policy ?

(1) income of the government

(2) with the expenditure of the government

(3) with the demand and supply
(4) with the balance of payment

176. Give the example of direct tax :
(1) expenditure tax
(2) income tax
(3) sales tax

(4) petrol tax

177. Whatis ADS ?

(1) Academy of Development Science

(2) Academy of Diplomatic Science

(3) Academy of Defaulter Science

(4) Academy of Debenture Science

178. In which sector trade,

communication and banking services fall ?

(1) in primary sector
(2) in 3rd sector

(3) in secondary sector
(4) None of these

179. What is the full form of GDP ?
(1) Total Foreign Production
(2) Total Income
(3) Total Production
(4) Gross Domestic Product

180. What is the formal source of debt ?
(1) Cooperative (2) Relatives
(3) Money lenders (4) Traders

transportation,

(31)

174.

175.

176.

177.

178.

179.

180.

Y3 ¥H feg fddmit gt aget 76 ¢
(1) 20 (2) 25
(3) 23 4 27

AIarg ©F Hefdx &3t = Ay fam &
J?

(1) AIAT & MTHES &5

(2) AIIT T ¥IT 5B

(3) HET™ & Hal vz YI=t 5%

(4) 3I3E T &H

Y3y 39 o frq Bergas fek :
(1) ¥I9 &9
(2) MMHEs 9
(3) feadt a9
(4) UeI® I

ADS ot J ?

(1) »iaHr nie fsesune ATfER
(2) niaEHt nie faudnfex ATfER
(3) nia3Ht nie feeweg AfER
(4) WIABH nie 5899 AfER
nife &gz 839 f<9 »r8dh Is ¢
(1) yIaHa ¥39

(2) I U39

(3) A<t 39

(4) I &It

GDP T yIr &' &t T ?

(1) & feeHt Gsue

(2) I& MHES

(8) &% G3u™

(4) &B WG G3u™

A T JAHT A ot I 2
(1) Afgad (2) famseg
(3) "I (4) =yrgt
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